
Adding Doubles Minus 1 (A)Use an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 155 + 4 = 6 + 5 = 2 + 1 = 
9 + 8 = 8 + 7 = 10 + 9 = 
3 + 2 = 3 + 2 = 7 + 6 = 
4 + 3 = 2 + 1 = 4 + 3 = 
7 + 6 = 10 + 9 = 1 + 0 = 
6 + 5 = 1 + 0 = 5 + 4 = 
10 + 9 = 4 + 3 = 8 + 7 = 
2 + 1 = 7 + 6 = 9 + 8 = 
8 + 7 = 5 + 4 = 6 + 5 = 
1 + 0 = 9 + 8 = 3 + 2 = 
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Adding Doubles Minus 1 (A) AnswersUse an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 155 + 4 = 6 + 5 = 2 + 1 =5 + 5 - 1 = 9 6 + 6 - 1 = 11 2 + 2 - 1 = 310 - 1 = 9 12 - 1 = 11 4 - 1 = 39 + 8 = 8 + 7 = 10 + 9 =9 + 9 - 1 = 17 8 + 8 - 1 = 15 10 + 10 - 1 = 1918 - 1 = 17 16 - 1 = 15 20 - 1 = 193 + 2 = 3 + 2 = 7 + 6 =3 + 3 - 1 = 5 3 + 3 - 1 = 5 7 + 7 - 1 = 136 - 1 = 5 6 - 1 = 5 14 - 1 = 134 + 3 = 2 + 1 = 4 + 3 =4 + 4 - 1 = 7 2 + 2 - 1 = 3 4 + 4 - 1 = 78 - 1 = 7 4 - 1 = 3 8 - 1 = 77 + 6 = 10 + 9 = 1 + 0 =7 + 7 - 1 = 13 10 + 10 - 1 = 19 1 + 1 - 1 = 114 - 1 = 13 20 - 1 = 19 2 - 1 = 16 + 5 = 1 + 0 = 5 + 4 =6 + 6 - 1 = 11 1 + 1 - 1 = 1 5 + 5 - 1 = 912 - 1 = 11 2 - 1 = 1 10 - 1 = 910 + 9 = 4 + 3 = 8 + 7 =10 + 10 - 1 = 19 4 + 4 - 1 = 7 8 + 8 - 1 = 1520 - 1 = 19 8 - 1 = 7 16 - 1 = 152 + 1 = 7 + 6 = 9 + 8 =2 + 2 - 1 = 3 7 + 7 - 1 = 13 9 + 9 - 1 = 174 - 1 = 3 14 - 1 = 13 18 - 1 = 178 + 7 = 5 + 4 = 6 + 5 =8 + 8 - 1 = 15 5 + 5 - 1 = 9 6 + 6 - 1 = 1116 - 1 = 15 10 - 1 = 9 12 - 1 = 111 + 0 = 9 + 8 = 3 + 2 =1 + 1 - 1 = 1 9 + 9 - 1 = 17 3 + 3 - 1 = 52 - 1 = 1 18 - 1 = 17 6 - 1 = 5Math-Drills.Com



Adding Doubles Minus 1 (B)Use an adding doubles strategy to find each sumExample: 3 + 2 = 3 + 3 - 1 = 6 - 1 = 53 + 2 = 10 + 9 = 10 + 9 = 
7 + 6 = 3 + 2 = 5 + 4 = 
1 + 0 = 8 + 7 = 1 + 0 = 
9 + 8 = 9 + 8 = 6 + 5 = 
8 + 7 = 7 + 6 = 4 + 3 = 
2 + 1 = 1 + 0 = 3 + 2 = 
4 + 3 = 5 + 4 = 2 + 1 = 
5 + 4 = 6 + 5 = 8 + 7 = 
10 + 9 = 4 + 3 = 7 + 6 = 
6 + 5 = 2 + 1 = 9 + 8 = 
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Adding Doubles Minus 1 (B) AnswersUse an adding doubles strategy to find each sumExample: 3 + 2 = 3 + 3 - 1 = 6 - 1 = 53 + 2 = 10 + 9 = 10 + 9 =3 + 3 - 1 = 5 10 + 10 - 1 = 19 10 + 10 - 1 = 196 - 1 = 5 20 - 1 = 19 20 - 1 = 197 + 6 = 3 + 2 = 5 + 4 =7 + 7 - 1 = 13 3 + 3 - 1 = 5 5 + 5 - 1 = 914 - 1 = 13 6 - 1 = 5 10 - 1 = 91 + 0 = 8 + 7 = 1 + 0 =1 + 1 - 1 = 1 8 + 8 - 1 = 15 1 + 1 - 1 = 12 - 1 = 1 16 - 1 = 15 2 - 1 = 19 + 8 = 9 + 8 = 6 + 5 =9 + 9 - 1 = 17 9 + 9 - 1 = 17 6 + 6 - 1 = 1118 - 1 = 17 18 - 1 = 17 12 - 1 = 118 + 7 = 7 + 6 = 4 + 3 =8 + 8 - 1 = 15 7 + 7 - 1 = 13 4 + 4 - 1 = 716 - 1 = 15 14 - 1 = 13 8 - 1 = 72 + 1 = 1 + 0 = 3 + 2 =2 + 2 - 1 = 3 1 + 1 - 1 = 1 3 + 3 - 1 = 54 - 1 = 3 2 - 1 = 1 6 - 1 = 54 + 3 = 5 + 4 = 2 + 1 =4 + 4 - 1 = 7 5 + 5 - 1 = 9 2 + 2 - 1 = 38 - 1 = 7 10 - 1 = 9 4 - 1 = 35 + 4 = 6 + 5 = 8 + 7 =5 + 5 - 1 = 9 6 + 6 - 1 = 11 8 + 8 - 1 = 1510 - 1 = 9 12 - 1 = 11 16 - 1 = 1510 + 9 = 4 + 3 = 7 + 6 =10 + 10 - 1 = 19 4 + 4 - 1 = 7 7 + 7 - 1 = 1320 - 1 = 19 8 - 1 = 7 14 - 1 = 136 + 5 = 2 + 1 = 9 + 8 =6 + 6 - 1 = 11 2 + 2 - 1 = 3 9 + 9 - 1 = 1712 - 1 = 11 4 - 1 = 3 18 - 1 = 17Math-Drills.Com



Adding Doubles Minus 1 (C)Use an adding doubles strategy to find each sumExample: 2 + 1 = 2 + 2 - 1 = 4 - 1 = 36 + 5 = 6 + 5 = 3 + 2 = 
2 + 1 = 1 + 0 = 8 + 7 = 
4 + 3 = 3 + 2 = 10 + 9 = 
5 + 4 = 10 + 9 = 9 + 8 = 
3 + 2 = 9 + 8 = 1 + 0 = 
1 + 0 = 4 + 3 = 7 + 6 = 
9 + 8 = 8 + 7 = 5 + 4 = 
7 + 6 = 2 + 1 = 2 + 1 = 
8 + 7 = 5 + 4 = 6 + 5 = 
10 + 9 = 7 + 6 = 4 + 3 = 
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Adding Doubles Minus 1 (C) AnswersUse an adding doubles strategy to find each sumExample: 2 + 1 = 2 + 2 - 1 = 4 - 1 = 36 + 5 = 6 + 5 = 3 + 2 =6 + 6 - 1 = 11 6 + 6 - 1 = 11 3 + 3 - 1 = 512 - 1 = 11 12 - 1 = 11 6 - 1 = 52 + 1 = 1 + 0 = 8 + 7 =2 + 2 - 1 = 3 1 + 1 - 1 = 1 8 + 8 - 1 = 154 - 1 = 3 2 - 1 = 1 16 - 1 = 154 + 3 = 3 + 2 = 10 + 9 =4 + 4 - 1 = 7 3 + 3 - 1 = 5 10 + 10 - 1 = 198 - 1 = 7 6 - 1 = 5 20 - 1 = 195 + 4 = 10 + 9 = 9 + 8 =5 + 5 - 1 = 9 10 + 10 - 1 = 19 9 + 9 - 1 = 1710 - 1 = 9 20 - 1 = 19 18 - 1 = 173 + 2 = 9 + 8 = 1 + 0 =3 + 3 - 1 = 5 9 + 9 - 1 = 17 1 + 1 - 1 = 16 - 1 = 5 18 - 1 = 17 2 - 1 = 11 + 0 = 4 + 3 = 7 + 6 =1 + 1 - 1 = 1 4 + 4 - 1 = 7 7 + 7 - 1 = 132 - 1 = 1 8 - 1 = 7 14 - 1 = 139 + 8 = 8 + 7 = 5 + 4 =9 + 9 - 1 = 17 8 + 8 - 1 = 15 5 + 5 - 1 = 918 - 1 = 17 16 - 1 = 15 10 - 1 = 97 + 6 = 2 + 1 = 2 + 1 =7 + 7 - 1 = 13 2 + 2 - 1 = 3 2 + 2 - 1 = 314 - 1 = 13 4 - 1 = 3 4 - 1 = 38 + 7 = 5 + 4 = 6 + 5 =8 + 8 - 1 = 15 5 + 5 - 1 = 9 6 + 6 - 1 = 1116 - 1 = 15 10 - 1 = 9 12 - 1 = 1110 + 9 = 7 + 6 = 4 + 3 =10 + 10 - 1 = 19 7 + 7 - 1 = 13 4 + 4 - 1 = 720 - 1 = 19 14 - 1 = 13 8 - 1 = 7Math-Drills.Com



Adding Doubles Minus 1 (D)Use an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 117 + 6 = 7 + 6 = 7 + 6 = 
5 + 4 = 9 + 8 = 2 + 1 = 
8 + 7 = 1 + 0 = 4 + 3 = 
3 + 2 = 4 + 3 = 1 + 0 = 
1 + 0 = 8 + 7 = 5 + 4 = 
4 + 3 = 10 + 9 = 8 + 7 = 
6 + 5 = 2 + 1 = 10 + 9 = 
2 + 1 = 6 + 5 = 9 + 8 = 
10 + 9 = 5 + 4 = 3 + 2 = 
9 + 8 = 3 + 2 = 6 + 5 = 
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Adding Doubles Minus 1 (D) AnswersUse an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 117 + 6 = 7 + 6 = 7 + 6 =7 + 7 - 1 = 13 7 + 7 - 1 = 13 7 + 7 - 1 = 1314 - 1 = 13 14 - 1 = 13 14 - 1 = 135 + 4 = 9 + 8 = 2 + 1 =5 + 5 - 1 = 9 9 + 9 - 1 = 17 2 + 2 - 1 = 310 - 1 = 9 18 - 1 = 17 4 - 1 = 38 + 7 = 1 + 0 = 4 + 3 =8 + 8 - 1 = 15 1 + 1 - 1 = 1 4 + 4 - 1 = 716 - 1 = 15 2 - 1 = 1 8 - 1 = 73 + 2 = 4 + 3 = 1 + 0 =3 + 3 - 1 = 5 4 + 4 - 1 = 7 1 + 1 - 1 = 16 - 1 = 5 8 - 1 = 7 2 - 1 = 11 + 0 = 8 + 7 = 5 + 4 =1 + 1 - 1 = 1 8 + 8 - 1 = 15 5 + 5 - 1 = 92 - 1 = 1 16 - 1 = 15 10 - 1 = 94 + 3 = 10 + 9 = 8 + 7 =4 + 4 - 1 = 7 10 + 10 - 1 = 19 8 + 8 - 1 = 158 - 1 = 7 20 - 1 = 19 16 - 1 = 156 + 5 = 2 + 1 = 10 + 9 =6 + 6 - 1 = 11 2 + 2 - 1 = 3 10 + 10 - 1 = 1912 - 1 = 11 4 - 1 = 3 20 - 1 = 192 + 1 = 6 + 5 = 9 + 8 =2 + 2 - 1 = 3 6 + 6 - 1 = 11 9 + 9 - 1 = 174 - 1 = 3 12 - 1 = 11 18 - 1 = 1710 + 9 = 5 + 4 = 3 + 2 =10 + 10 - 1 = 19 5 + 5 - 1 = 9 3 + 3 - 1 = 520 - 1 = 19 10 - 1 = 9 6 - 1 = 59 + 8 = 3 + 2 = 6 + 5 =9 + 9 - 1 = 17 3 + 3 - 1 = 5 6 + 6 - 1 = 1118 - 1 = 17 6 - 1 = 5 12 - 1 = 11Math-Drills.Com



Adding Doubles Minus 1 (E)Use an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 115 + 4 = 1 + 0 = 2 + 1 = 
3 + 2 = 2 + 1 = 10 + 9 = 
1 + 0 = 3 + 2 = 8 + 7 = 
10 + 9 = 6 + 5 = 5 + 4 = 
2 + 1 = 5 + 4 = 4 + 3 = 
7 + 6 = 8 + 7 = 7 + 6 = 
4 + 3 = 4 + 3 = 9 + 8 = 
6 + 5 = 9 + 8 = 3 + 2 = 
9 + 8 = 10 + 9 = 6 + 5 = 
8 + 7 = 7 + 6 = 1 + 0 = 

Math-Drills.Com



Adding Doubles Minus 1 (E) AnswersUse an adding doubles strategy to find each sumExample: 6 + 5 = 6 + 6 - 1 = 12 - 1 = 115 + 4 = 1 + 0 = 2 + 1 =5 + 5 - 1 = 9 1 + 1 - 1 = 1 2 + 2 - 1 = 310 - 1 = 9 2 - 1 = 1 4 - 1 = 33 + 2 = 2 + 1 = 10 + 9 =3 + 3 - 1 = 5 2 + 2 - 1 = 3 10 + 10 - 1 = 196 - 1 = 5 4 - 1 = 3 20 - 1 = 191 + 0 = 3 + 2 = 8 + 7 =1 + 1 - 1 = 1 3 + 3 - 1 = 5 8 + 8 - 1 = 152 - 1 = 1 6 - 1 = 5 16 - 1 = 1510 + 9 = 6 + 5 = 5 + 4 =10 + 10 - 1 = 19 6 + 6 - 1 = 11 5 + 5 - 1 = 920 - 1 = 19 12 - 1 = 11 10 - 1 = 92 + 1 = 5 + 4 = 4 + 3 =2 + 2 - 1 = 3 5 + 5 - 1 = 9 4 + 4 - 1 = 74 - 1 = 3 10 - 1 = 9 8 - 1 = 77 + 6 = 8 + 7 = 7 + 6 =7 + 7 - 1 = 13 8 + 8 - 1 = 15 7 + 7 - 1 = 1314 - 1 = 13 16 - 1 = 15 14 - 1 = 134 + 3 = 4 + 3 = 9 + 8 =4 + 4 - 1 = 7 4 + 4 - 1 = 7 9 + 9 - 1 = 178 - 1 = 7 8 - 1 = 7 18 - 1 = 176 + 5 = 9 + 8 = 3 + 2 =6 + 6 - 1 = 11 9 + 9 - 1 = 17 3 + 3 - 1 = 512 - 1 = 11 18 - 1 = 17 6 - 1 = 59 + 8 = 10 + 9 = 6 + 5 =9 + 9 - 1 = 17 10 + 10 - 1 = 19 6 + 6 - 1 = 1118 - 1 = 17 20 - 1 = 19 12 - 1 = 118 + 7 = 7 + 6 = 1 + 0 =8 + 8 - 1 = 15 7 + 7 - 1 = 13 1 + 1 - 1 = 116 - 1 = 15 14 - 1 = 13 2 - 1 = 1Math-Drills.Com



Adding Doubles Minus 1 (F)Use an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 98 + 7 = 4 + 3 = 9 + 8 = 
1 + 0 = 9 + 8 = 1 + 0 = 
10 + 9 = 10 + 9 = 5 + 4 = 
7 + 6 = 7 + 6 = 4 + 3 = 
6 + 5 = 2 + 1 = 7 + 6 = 
4 + 3 = 5 + 4 = 10 + 9 = 
2 + 1 = 6 + 5 = 2 + 1 = 
5 + 4 = 1 + 0 = 8 + 7 = 
9 + 8 = 8 + 7 = 3 + 2 = 
3 + 2 = 3 + 2 = 6 + 5 = 

Math-Drills.Com



Adding Doubles Minus 1 (F) AnswersUse an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 98 + 7 = 4 + 3 = 9 + 8 =8 + 8 - 1 = 15 4 + 4 - 1 = 7 9 + 9 - 1 = 1716 - 1 = 15 8 - 1 = 7 18 - 1 = 171 + 0 = 9 + 8 = 1 + 0 =1 + 1 - 1 = 1 9 + 9 - 1 = 17 1 + 1 - 1 = 12 - 1 = 1 18 - 1 = 17 2 - 1 = 110 + 9 = 10 + 9 = 5 + 4 =10 + 10 - 1 = 19 10 + 10 - 1 = 19 5 + 5 - 1 = 920 - 1 = 19 20 - 1 = 19 10 - 1 = 97 + 6 = 7 + 6 = 4 + 3 =7 + 7 - 1 = 13 7 + 7 - 1 = 13 4 + 4 - 1 = 714 - 1 = 13 14 - 1 = 13 8 - 1 = 76 + 5 = 2 + 1 = 7 + 6 =6 + 6 - 1 = 11 2 + 2 - 1 = 3 7 + 7 - 1 = 1312 - 1 = 11 4 - 1 = 3 14 - 1 = 134 + 3 = 5 + 4 = 10 + 9 =4 + 4 - 1 = 7 5 + 5 - 1 = 9 10 + 10 - 1 = 198 - 1 = 7 10 - 1 = 9 20 - 1 = 192 + 1 = 6 + 5 = 2 + 1 =2 + 2 - 1 = 3 6 + 6 - 1 = 11 2 + 2 - 1 = 34 - 1 = 3 12 - 1 = 11 4 - 1 = 35 + 4 = 1 + 0 = 8 + 7 =5 + 5 - 1 = 9 1 + 1 - 1 = 1 8 + 8 - 1 = 1510 - 1 = 9 2 - 1 = 1 16 - 1 = 159 + 8 = 8 + 7 = 3 + 2 =9 + 9 - 1 = 17 8 + 8 - 1 = 15 3 + 3 - 1 = 518 - 1 = 17 16 - 1 = 15 6 - 1 = 53 + 2 = 3 + 2 = 6 + 5 =3 + 3 - 1 = 5 3 + 3 - 1 = 5 6 + 6 - 1 = 116 - 1 = 5 6 - 1 = 5 12 - 1 = 11Math-Drills.Com



Adding Doubles Minus 1 (G)Use an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 94 + 3 = 5 + 4 = 6 + 5 = 
7 + 6 = 7 + 6 = 4 + 3 = 
2 + 1 = 4 + 3 = 2 + 1 = 
8 + 7 = 9 + 8 = 7 + 6 = 
10 + 9 = 3 + 2 = 5 + 4 = 
5 + 4 = 2 + 1 = 3 + 2 = 
3 + 2 = 10 + 9 = 9 + 8 = 
9 + 8 = 6 + 5 = 1 + 0 = 
1 + 0 = 8 + 7 = 8 + 7 = 
6 + 5 = 1 + 0 = 10 + 9 = 

Math-Drills.Com



Adding Doubles Minus 1 (G) AnswersUse an adding doubles strategy to find each sumExample: 5 + 4 = 5 + 5 - 1 = 10 - 1 = 94 + 3 = 5 + 4 = 6 + 5 =4 + 4 - 1 = 7 5 + 5 - 1 = 9 6 + 6 - 1 = 118 - 1 = 7 10 - 1 = 9 12 - 1 = 117 + 6 = 7 + 6 = 4 + 3 =7 + 7 - 1 = 13 7 + 7 - 1 = 13 4 + 4 - 1 = 714 - 1 = 13 14 - 1 = 13 8 - 1 = 72 + 1 = 4 + 3 = 2 + 1 =2 + 2 - 1 = 3 4 + 4 - 1 = 7 2 + 2 - 1 = 34 - 1 = 3 8 - 1 = 7 4 - 1 = 38 + 7 = 9 + 8 = 7 + 6 =8 + 8 - 1 = 15 9 + 9 - 1 = 17 7 + 7 - 1 = 1316 - 1 = 15 18 - 1 = 17 14 - 1 = 1310 + 9 = 3 + 2 = 5 + 4 =10 + 10 - 1 = 19 3 + 3 - 1 = 5 5 + 5 - 1 = 920 - 1 = 19 6 - 1 = 5 10 - 1 = 95 + 4 = 2 + 1 = 3 + 2 =5 + 5 - 1 = 9 2 + 2 - 1 = 3 3 + 3 - 1 = 510 - 1 = 9 4 - 1 = 3 6 - 1 = 53 + 2 = 10 + 9 = 9 + 8 =3 + 3 - 1 = 5 10 + 10 - 1 = 19 9 + 9 - 1 = 176 - 1 = 5 20 - 1 = 19 18 - 1 = 179 + 8 = 6 + 5 = 1 + 0 =9 + 9 - 1 = 17 6 + 6 - 1 = 11 1 + 1 - 1 = 118 - 1 = 17 12 - 1 = 11 2 - 1 = 11 + 0 = 8 + 7 = 8 + 7 =1 + 1 - 1 = 1 8 + 8 - 1 = 15 8 + 8 - 1 = 152 - 1 = 1 16 - 1 = 15 16 - 1 = 156 + 5 = 1 + 0 = 10 + 9 =6 + 6 - 1 = 11 1 + 1 - 1 = 1 10 + 10 - 1 = 1912 - 1 = 11 2 - 1 = 1 20 - 1 = 19Math-Drills.Com



Adding Doubles Minus 1 (H)Use an adding doubles strategy to find each sumExample: 3 + 2 = 3 + 3 - 1 = 6 - 1 = 52 + 1 = 6 + 5 = 2 + 1 = 
6 + 5 = 7 + 6 = 3 + 2 = 
10 + 9 = 3 + 2 = 5 + 4 = 
3 + 2 = 8 + 7 = 6 + 5 = 
8 + 7 = 1 + 0 = 9 + 8 = 
9 + 8 = 9 + 8 = 10 + 9 = 
7 + 6 = 2 + 1 = 1 + 0 = 
1 + 0 = 5 + 4 = 4 + 3 = 
5 + 4 = 10 + 9 = 7 + 6 = 
4 + 3 = 4 + 3 = 8 + 7 = 
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Adding Doubles Minus 1 (H) AnswersUse an adding doubles strategy to find each sumExample: 3 + 2 = 3 + 3 - 1 = 6 - 1 = 52 + 1 = 6 + 5 = 2 + 1 =2 + 2 - 1 = 3 6 + 6 - 1 = 11 2 + 2 - 1 = 34 - 1 = 3 12 - 1 = 11 4 - 1 = 36 + 5 = 7 + 6 = 3 + 2 =6 + 6 - 1 = 11 7 + 7 - 1 = 13 3 + 3 - 1 = 512 - 1 = 11 14 - 1 = 13 6 - 1 = 510 + 9 = 3 + 2 = 5 + 4 =10 + 10 - 1 = 19 3 + 3 - 1 = 5 5 + 5 - 1 = 920 - 1 = 19 6 - 1 = 5 10 - 1 = 93 + 2 = 8 + 7 = 6 + 5 =3 + 3 - 1 = 5 8 + 8 - 1 = 15 6 + 6 - 1 = 116 - 1 = 5 16 - 1 = 15 12 - 1 = 118 + 7 = 1 + 0 = 9 + 8 =8 + 8 - 1 = 15 1 + 1 - 1 = 1 9 + 9 - 1 = 1716 - 1 = 15 2 - 1 = 1 18 - 1 = 179 + 8 = 9 + 8 = 10 + 9 =9 + 9 - 1 = 17 9 + 9 - 1 = 17 10 + 10 - 1 = 1918 - 1 = 17 18 - 1 = 17 20 - 1 = 197 + 6 = 2 + 1 = 1 + 0 =7 + 7 - 1 = 13 2 + 2 - 1 = 3 1 + 1 - 1 = 114 - 1 = 13 4 - 1 = 3 2 - 1 = 11 + 0 = 5 + 4 = 4 + 3 =1 + 1 - 1 = 1 5 + 5 - 1 = 9 4 + 4 - 1 = 72 - 1 = 1 10 - 1 = 9 8 - 1 = 75 + 4 = 10 + 9 = 7 + 6 =5 + 5 - 1 = 9 10 + 10 - 1 = 19 7 + 7 - 1 = 1310 - 1 = 9 20 - 1 = 19 14 - 1 = 134 + 3 = 4 + 3 = 8 + 7 =4 + 4 - 1 = 7 4 + 4 - 1 = 7 8 + 8 - 1 = 158 - 1 = 7 8 - 1 = 7 16 - 1 = 15Math-Drills.Com



Adding Doubles Minus 1 (I)Use an adding doubles strategy to find each sumExample: 4 + 3 = 4 + 4 - 1 = 8 - 1 = 75 + 4 = 5 + 4 = 5 + 4 = 
2 + 1 = 8 + 7 = 4 + 3 = 
4 + 3 = 10 + 9 = 8 + 7 = 
1 + 0 = 7 + 6 = 2 + 1 = 
8 + 7 = 9 + 8 = 10 + 9 = 
3 + 2 = 6 + 5 = 7 + 6 = 
7 + 6 = 2 + 1 = 6 + 5 = 
9 + 8 = 1 + 0 = 1 + 0 = 
6 + 5 = 4 + 3 = 3 + 2 = 
10 + 9 = 3 + 2 = 9 + 8 = 
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Adding Doubles Minus 1 (I) AnswersUse an adding doubles strategy to find each sumExample: 4 + 3 = 4 + 4 - 1 = 8 - 1 = 75 + 4 = 5 + 4 = 5 + 4 =5 + 5 - 1 = 9 5 + 5 - 1 = 9 5 + 5 - 1 = 910 - 1 = 9 10 - 1 = 9 10 - 1 = 92 + 1 = 8 + 7 = 4 + 3 =2 + 2 - 1 = 3 8 + 8 - 1 = 15 4 + 4 - 1 = 74 - 1 = 3 16 - 1 = 15 8 - 1 = 74 + 3 = 10 + 9 = 8 + 7 =4 + 4 - 1 = 7 10 + 10 - 1 = 19 8 + 8 - 1 = 158 - 1 = 7 20 - 1 = 19 16 - 1 = 151 + 0 = 7 + 6 = 2 + 1 =1 + 1 - 1 = 1 7 + 7 - 1 = 13 2 + 2 - 1 = 32 - 1 = 1 14 - 1 = 13 4 - 1 = 38 + 7 = 9 + 8 = 10 + 9 =8 + 8 - 1 = 15 9 + 9 - 1 = 17 10 + 10 - 1 = 1916 - 1 = 15 18 - 1 = 17 20 - 1 = 193 + 2 = 6 + 5 = 7 + 6 =3 + 3 - 1 = 5 6 + 6 - 1 = 11 7 + 7 - 1 = 136 - 1 = 5 12 - 1 = 11 14 - 1 = 137 + 6 = 2 + 1 = 6 + 5 =7 + 7 - 1 = 13 2 + 2 - 1 = 3 6 + 6 - 1 = 1114 - 1 = 13 4 - 1 = 3 12 - 1 = 119 + 8 = 1 + 0 = 1 + 0 =9 + 9 - 1 = 17 1 + 1 - 1 = 1 1 + 1 - 1 = 118 - 1 = 17 2 - 1 = 1 2 - 1 = 16 + 5 = 4 + 3 = 3 + 2 =6 + 6 - 1 = 11 4 + 4 - 1 = 7 3 + 3 - 1 = 512 - 1 = 11 8 - 1 = 7 6 - 1 = 510 + 9 = 3 + 2 = 9 + 8 =10 + 10 - 1 = 19 3 + 3 - 1 = 5 9 + 9 - 1 = 1720 - 1 = 19 6 - 1 = 5 18 - 1 = 17Math-Drills.Com



Adding Doubles Minus 1 (J)Use an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 152 + 1 = 3 + 2 = 6 + 5 = 
9 + 8 = 7 + 6 = 9 + 8 = 
4 + 3 = 2 + 1 = 10 + 9 = 
6 + 5 = 4 + 3 = 8 + 7 = 
1 + 0 = 8 + 7 = 2 + 1 = 
5 + 4 = 10 + 9 = 3 + 2 = 
3 + 2 = 6 + 5 = 5 + 4 = 
7 + 6 = 9 + 8 = 7 + 6 = 
10 + 9 = 1 + 0 = 1 + 0 = 
8 + 7 = 5 + 4 = 4 + 3 = 
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Adding Doubles Minus 1 (J) AnswersUse an adding doubles strategy to find each sumExample: 8 + 7 = 8 + 8 - 1 = 16 - 1 = 152 + 1 = 3 + 2 = 6 + 5 =2 + 2 - 1 = 3 3 + 3 - 1 = 5 6 + 6 - 1 = 114 - 1 = 3 6 - 1 = 5 12 - 1 = 119 + 8 = 7 + 6 = 9 + 8 =9 + 9 - 1 = 17 7 + 7 - 1 = 13 9 + 9 - 1 = 1718 - 1 = 17 14 - 1 = 13 18 - 1 = 174 + 3 = 2 + 1 = 10 + 9 =4 + 4 - 1 = 7 2 + 2 - 1 = 3 10 + 10 - 1 = 198 - 1 = 7 4 - 1 = 3 20 - 1 = 196 + 5 = 4 + 3 = 8 + 7 =6 + 6 - 1 = 11 4 + 4 - 1 = 7 8 + 8 - 1 = 1512 - 1 = 11 8 - 1 = 7 16 - 1 = 151 + 0 = 8 + 7 = 2 + 1 =1 + 1 - 1 = 1 8 + 8 - 1 = 15 2 + 2 - 1 = 32 - 1 = 1 16 - 1 = 15 4 - 1 = 35 + 4 = 10 + 9 = 3 + 2 =5 + 5 - 1 = 9 10 + 10 - 1 = 19 3 + 3 - 1 = 510 - 1 = 9 20 - 1 = 19 6 - 1 = 53 + 2 = 6 + 5 = 5 + 4 =3 + 3 - 1 = 5 6 + 6 - 1 = 11 5 + 5 - 1 = 96 - 1 = 5 12 - 1 = 11 10 - 1 = 97 + 6 = 9 + 8 = 7 + 6 =7 + 7 - 1 = 13 9 + 9 - 1 = 17 7 + 7 - 1 = 1314 - 1 = 13 18 - 1 = 17 14 - 1 = 1310 + 9 = 1 + 0 = 1 + 0 =10 + 10 - 1 = 19 1 + 1 - 1 = 1 1 + 1 - 1 = 120 - 1 = 19 2 - 1 = 1 2 - 1 = 18 + 7 = 5 + 4 = 4 + 3 =8 + 8 - 1 = 15 5 + 5 - 1 = 9 4 + 4 - 1 = 716 - 1 = 15 10 - 1 = 9 8 - 1 = 7Math-Drills.Com
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